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Choose the correct answer from the following:

1. Ifa reaction’s rate is represe 1s rate = k [A][B], the reaction’s order will |
b. 3
10

the pro

a. Isol b. Isothermal

Adiabatic

The unit of rate constant for a zeroth order reaction is

mol L' s b.

mol |

TAMICS ites that il a bodv A i1s in thermal Hq).vhln um
s in therm. juilibrium with bodv C then bodi A and B
quilibrium with each other
woii‘i“‘i:!\‘.' b. Second law

First law d. Third law

Which one of the following reactive intermediate formed in Aldol condensation

reaction

a. Carbocation b. Carbene

arbanion d. Nilrene

| ‘)mn!a‘i;u"f_‘.“ Aldol condensation reaction
b. Benzaldehvde

d. Acetaldehyd

| contain a-Hydrogen
b. Benzophenon

d. Acetophenon:

ed for mono bromination of phenol 1s
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b. What is Brady’s reagent

Brady’s reagent. :
c. How ethyl alcohol
d. State and explain dispro

2. a. What do you mean by Jo jf 50 'hat is Joule
Thomson coefficient? «

b. Write the second law of ti ermod ynam Hess's law o
constant heat summation. 'T.‘

c. Calculate Kc and Kx for the action ) = 2NOx(g) for whick

Kp = 0.157 atm at 27 °C
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